


If the equation (m*+4 n*)a” —2(mp+ ng)z+ p"+ ¢ = 0 has
equal roots, then

{E") mp = ng N\




For equal roots. b’ = 4dac

4(mp +nq) =4(m"+n’) (p"+ )

W\
mgcf + ﬂgﬁg — 2mnpq :$Q\ e P
ot©
mq — = ()
(ma =58}
mq— np =
mq = np

Thus (b) is correct option.




The quadratic equation 227 — 32 r+ =+ =0 has

(a) two distinct real roots _ o™

\e
(b) two equal real I‘DO&E\(O@/

\Q\)\a%
(¢) no real roots™™

(d) more than 2 real roots




The quadratic equation 2° + 4z — 3v'2 = 0 has

(a) two distinct real roots . o

D
(b) two equal real mg@@w
OE°
(¢) no real rootss"”

(d) more than 2 real roots




Assertion : 427 — 122+ 9 = 0 has repeated roots.

Reason : The quadratic equation azr 4+ bzx+ c¢=0 have
repeated roots if diseriminant D > 0.

(a) Both assertion (A) and reason @]@ﬁm true and reason
(R) is the correct explanation Df ggé%rtmn (A).

(b) Both assertion (A) %%d‘}}easnn (R) are true but reason
(R) is not the cnrrect\)@kplsmatmn of assertion (A).

(c) Assertion (A) is true but reason (R) is false.
(d) Assertion (A) is false but reason (R) is true.




Assertion : The equation «* + 3z+ 1 = (z— 2) is a quadratic
equation.

Reason : Anyv equation of the form ar + bxr+ ¢ =0 where
a #+ 0, is called a quadratic equation. GON\

(a) Both assertion (A) and reasﬂg\/{ﬂ% are true and reason
(R) is the correct E:{planatml%\;ﬁf( assertion (A).

(b) Both assertion {%\&Jd reason (R) are true but reason

(R) is not the correct explanation of assertion (A).

(¢) Assertion (A) is true but reason (R) is false.
(d) Assertion (A) is false but reason (R) is true.




. Solve for z : = — (vﬁﬂé@kﬁ: +v3 =




We have
7 —(V3+1Dz+v3 =0
zz—x/gog{;\@%@ﬁJr«/g =
$(§@®?€(§()—1($—\/§) =0
(:1:—\/5)(1:— 1) =0
Thus z =x/§j:1?:1




- Solve the following quadm@@:%\’{\quatiﬂn for z :
N\
97" — 6@{@010(&4 — bd) =0
e




We have 01" — 6b2:1:—(ﬂ4 — b4) =0
Comparing with A2” + Bx+ C = 0 we have
A =9,B=-— 63}2,6’:—(&4— 54)
—~ B+ VB —4AC
2A ) (O“\

Tr =

6b2+\/ —60°) — 409 x {(a' - b))

v ,(\)0\‘2/ X 9

Eibz\@@a\%ﬁ + 364" — 360"
18

60" £ V36a" 6b°t 64°
- 18 - 18

2 2 12 2
_a+b b —a




If 2 is a root of the quadratic equatddn 37+ pr—8 =0
and the quadratic equation %;f\/ﬁ%?pfﬂ—l— k=0 has equal
roots, find %. 5«\30\(

2
oW




We have 307+ pr—8 =0
Since 2 1s a root of above equation, 1t must satisfy it.
Substituting z=2 in 32+ pz— & = 0 we have

1242p—8 =0

p =—2 N
Since 4" — 2px+ k =0 ha&\%qual roots,
or A7 + Az + ,Q\)g\(@ has equal roots,
$\Q\)€D = b —4ac=0
4° — 4(4)(k) =0
16 — 16k =0
16k =16

Thus E =1




i

Solve for x : . + 57— 3 _wmjmi 0, 3 2.
\65‘00\(0
oS




1 2 1
We have P r— p—

20— 3+ 2w 1
r(2x— 3) T— 2

4z — 3 __pl
O —2

$(2$——§§a‘

\

(o= 8= 3) = 27— 32
\)&\Q\ﬁ%— 112+ 6 = 22" — 3z
20 — 82+ 6 =0
—4z+3 =0
(z—1)(z—3) =0

Thus z = 1.3




Find for z :




1, 2
We have ot =

r—1+2x—4
(m—Z)(:r—l) -
37 — bz —632—183@- 12

c©
32 — 132+ 12 = ow\@’é

377 — 43:@@:1:4— 12 =0

x(@«\ﬁﬁ;‘) 3(3z—4) =0
(3:1’:— 4)(:1:— 3) =0

4
3 d 3

Bl ]8O

X

4
3

Hence, x =3




f N\
Sum of the areas of two squares is\@g m-. If the difference

of their perimeter 1s 24 m. f@@d?%\he sides of the squares.

4\
&\QO@
N




dr—4y = 24

z—y =6 (1)
According to the question we get
v+ 1y = 468 (2)
Substituting r = y+ 6 from equation é@ﬁl\m (2) we have
y +6f 4 @é\§468
é@% 36 = 468

29& 12y — 432 =0
v + 6y — 216 =0
(y+18)(y—12) =0
Thus y =— 18,12







